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CBT Practice test model answers

Budgeting (BGT)

Practice assessment 1

Section 1

Task 1.1
[image: image2.png](a) Match the data in the first column with the appropriate source in the second column..
Click on a box in the left column then on one in the right column. To remove a line, click onit.

Data Source

[RIRC publcations.
(Her ligesty's
Customs and
Demand for our Revenue)
products
Gross National
Product

Value [New York Times
Tax (VAT) rates

Market
Research

Offce for
Infiaton rends | | National
inUK Statistics

SWOT analysis






Task 1.1, continued

[image: image3.png]{b) Who would you contact in each of the following situations?
Click on a box in the left column then on one in the right column. To remove a line, click on it.

Situation Pick from
The draft Budget
budget is ready |_——— | committee
for review Production
planning
You want to Tensger
forecast the 0
price of raw tyer
materials
“Trade union
Tonantte eprsonae
production
Managing
capacly ofthe director





Task 1.1, continued

[image: image4.png](c) Drag each item of revenue or cost in the list below and drop it into its appropriate budget.

Cost

[Cost of production [Marketing [Capital expenditure
[Production wages [Advertising |Warehouse extension
[Raw material usage. [Customer demand survey

(Commission paid o sales staff
Personnel [Maintenance
[Printing recruitment application forms | Spare parts for production machines





Task 1.1, continued

[image: image5.png](d) Select an appropriate accounting treatment for each of the following costs.

+ Holiday pay for production workers

[Erarge o producion n a abourhour vemeaate

- Wateral wastage nhe poduction process. [Drecrcast

« Costofthe purchasing department

+ Administrative wages

+ Computing services

+ Production equipment maintenance

* Depreciation of production equipment

+ Redecoration of the sales showroom

[Actiity based charge to production cost centres

[ocste o samnstame ovemeais

[ocste o samnstame ovemeais

[Ertas o roaucion s machin hourovrmeaaas Il

[Ertas o roaucion s machin hourovrmeaaras ol

[ote o mareeing ovemeass





Task 1.2

[image: image6.png](a) Complete the following production forecast for product P.

Week1 —Week2 Week3 Weekd  Weeks

lopening inventory 1200)
Producton 00 | 4as0 | 4800

Sub-total 7500 | 630 | 1m0 | 7600

sales 5000 4500 7.000)
Crosing iientory 00 | 1m0 | tes0 | 2100





[image: image7.png](b) How many items of product L must be manufactured each month to allow for waste?

[Required units 72000 90000 81000

Manufactured units | 80000 | 100000 | 90000





Task 1.2, continued

[image: image8.png](c) How much material must be purchased?

9.111m

13111m

22750m

23,000m

27,000m





[image: image9.png](d) How many overtime hours must be worked to complete the production?

180

3,000

7,200






Task 1.2, continued

[image: image10.png]{e) Calculate the machine hours needed to manufacture these in November.

B 210] 20] 420
lc 170 30| 510
[Total 1140

There are 3 machines in the department.
‘Addiional machines can be hired if required.
Each machine can be used for 250 hours in November.

How many additional machines should be hired? 2]





Task 1.3

[image: image11.png](a) Complete these three working schedules.

Materials
Each unit produced requires 0 55kg of material.
Closing inventory will be valued at the budgeted
purchase price.

Labour
Each item takes 4 minutes to produce. 8 staff work 200
basic hours each in the period. Overtime is paid at 50%
above the basic hourlyrate.

Overhead
Variable overhead is recovered on total labour hours.

Kg

|ovening inventory 2100 2000
lPurchases 15500 27,125|
[sub-tota 17,600 29.125|
[Usedin producton 16500 27200
[Closing imventory 1100 T025]

[Basic time @ £12 per hour 1600 19200
[overtime 400 7200|
[Total 2000 26400)

|Variable @ £1.50 per hour 2000 3000)
[Fixed 3,400
[Total 6400)





Task 1.3, continued

[image: image12.png](b) Now complete the operating budget.

Enter income, costs and inventories as positive
figures.

Closing finished goods inventory wil be valued at
the budgeted production cost per unit.

Use anegative figure to indicate a gross loss, for
example -500 or (500).

Use anegative figure to indicate an operating
loss, for example -500 or (500).

Operating budget £perunit
[sales revenue 20000 260) 75400
[Costof goods sala:

[opening inventor ofinished goods

[Costofprocuction B

[Waterials 27200

|Cabour 26400

[overnead 5400

[Closing inventory ofinished gaods 10000
[Cost ot goods sala 57000
[Gross proftoss) 18400)
loverneads B

[Aaministraion 3000

[Warketing 4000

|operating profitioss)

11400





Task 1.4
[image: image13.png](a) Forecast the sales revenue for each quarter of next year.

4 267500
A 272500
A 247500
ls 242500
Ivear 1050000





[image: image14.png](b) Calculate the sales revenue and cost budgets for April.

|units sold 24,000 2,000
|units produced 25,000 2,500
|sales revenue 480,000 40000
[Materials used 80,000 8000
|Labour 64,800 8900
|Variable production overhead 30,000 3000
[Fixed overhead 1.800) 150






Task 1.4, continued

[image: image15.png](c) Prepare a cash forecast for May from the following budget data. Show payments and receipts as plus
figures. Enter a negative balance to indicate an overdrawn account.

Imoicessaes 13 000 3500| 3.300] 3.00]opening cashbatance 450

[Purchases 1,000{ 1,100 1,200 1,100(Customer receipts 3250

wages s 0| s a0

lomercwemeass | 00| o0 e20] saoframens

|Capital expenditure 0| 1,200 0| 0|For purchases. 1000
[Forwages 2
[For overheads. 660
|For capital exp. o
o 2100
[Closing cash balance 590





Task 1.5

[image: image16.png](a) Budget submission

[ attach the proposed direct labour budget for next year for your consideration and approval

The agreed production plan indicates an increase in volume to 800,000 units next year. No change in productivity has been assumed. Thersfore, the
staffing level needs to increase by one to 23.

[The manager of human resources estimates that average pay will increase by 6% next yearto £26,500.

(b) Performance indicators.

[There are a range of useful measures to monitor cost, eficiency, effectiveness, and employee salistaction. Stafl hours and output data should be

available on a daily basis. Labour rates are reviewed periodically. However, employee satisfaction is probably best canvassed once or twice a vear. |
recommend that we conduct a weekly review of performance based on:

- Hinutes per unit
- Hours of overtime.

- Percentage of good output (or similar quality measure)
- Average noury rate.

e should also commission a confidential employee satisfaction and involvement questionnaire.

A Technician






Section 2
Task 2.1
[image: image17.png](a) Complete the following analysis.

There is labour available to make [87500 units in normal time. Therefore, [6250
hours of overtime will be needed.

The raw material contract will provide enough materialto make  [75000 units.
Therefore, [50000 Kgwill have to be purchased on the open market.

Quality control can test [95000 units inthe year. Itwill be necessary to make alterative.
amangements for [4000 units

(b) From the following data, revise the sales revenue forecast.

Nextyear sales revenue is forecast at £7,350,000. This assumes a 5% increase in seling price.
In the light of increasing compefition the marketing manager has decided notto make the increase.

The salls revenue frecast should be reisedto

(c) From the following data revise the forecast for eneray costs.

Nextyear energy costs are forecast at £228,800. This assumes a 4% increase in energy consumption and a 5%
increase in gas and slectricity tarffs.

However, energy saving measures are being proposed. Instead of increasing, consumption should reduce by 10%.

The energy forecast should be revised to [£198.000





Task 2.2
[image: image18.png](Complete the Operating Report below:

Operating report for July

Flexed
budget £

[Sales revenue (68,000 units) | 2720000| 2856000  135000)
|costs

[Material 476000| 510000  -34000)
|Labour 612000 516250 -4250)
|Distribution 8800 7,000 200
[Eneray 161000 164000  -3000
|Equipment hire 36000| 35,000 1000
[pepreciation 182000 180,000) 2000|
[Marketing 231000| 235000 -4000)
|Administration 186000 189,000  -3000
[Total 1890800| 1036250  -45450
|operating profit 820200 919750 90s50|





Task 2.3
[image: image19.png](a) Reasons for variances




[image: image20.png][ have reviewed the results for May 2009. Profit in the month was £807,200 driven by a 10% price B
improvement over budget and increased volume. Afer flexing the original budget to allow for the increased
volume, we are reporting adverse expense variances of £44,000.

[The only significant favourable expense variance is labour. This is one cost which you might expectto be
[adverse because increased workioads tend to create high overtime costs. This was avoided by using
temporary workers and cost savings were made.

Material costs were 8% over budget The increase in brass costs does not adequately explain this
[variance. we need o investigate whether the use oftemporary workers, and the demotivating impact of
this on the permanent staff, may have led o higher levels of material wastage. It may be preferable to use
our own staff at overtime rates.

[Marketing costs were £7,000 over budget, no doubt due to the costs of the advertising campaign, and this
[seems to be money well spent.

The administration overspend s worring and needs to be investigated. It could have been a one-of.
[Atternatively, perhaps there are variable costs such as overtime or bonus that should not have been
budgeted as fixed costs.





[image: image21.png](b) Recommendations




[image: image22.png][Budgets are useful for planning, coordination, authorisation and control. However, this requires the full and
enthusiastic involvement of the managementteam. | suggest that you need to:

- Involve the whole team in the planning process.

- insistthat al known factors and plans (such as the advertising campaign) are builtinto the budget.

- Assign responsibiliies to individuals for all aspect of the budget.

- Allow managers freedom to manage their budgets.
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